THISHEERBRZREESE, HEARUNEABFEREERRR

O E 4 21k
S PR HENE | BEER | SBREK | EBER | Fiaik
A SRR P 2 2 2 1
L 0fbit sy |45 o AR a— 2 HEF A 0 0 0 0
at 2 2 2 1
ek T = — = A 0 0 0 0
AT T — A 0 0 0 0
- M T2 — = A 0 0 0 0
HEBRET A v TR a—R 1A 0 0 0 0
(b2 - M T %= —x PN 0 0 0 0
at 0 0 0 0
K PE IKPESER A 2 2 1 1
& e 4 4 3 2
O#EAEK (1MAYSE)
T s A AE | SEEK | TRER | OB | FRER
& % (B Fa—2) 40 85 83 358 2
i [RAEFHR 2 3 3 1 0
i (et 1 0 0
| 1 0 0
i 2 1 3 3 1 0
& en 44 88 86 %59 42
OB, BMAREAR % L ir,
O# & NEik (3 AMEE)
T s A AE | SEEK | TREK | OB | FHER
& % ("R Ea—2) 20 36 35 21 18
OSVE A BB 4R iR
S PR HENE | BEER | ZBREK | EBELR | Fid ik
S |2 i e R ETA 0 0 0 0
B B | ARG RERR ETA 0 0 0 0
® 7 |RomEER ETA 15 5 4 2
= ETA 0 0 0 0
73 (R BTN 0 0 0 0
z 0 0 0 0
h R ETA 1 0 0 0
SR ETA 0 0 0 0
B SRR BTN 0 0 0 0
z 0 0 0 0
N (AR 5 13 8 5 5
I e ) 5 3 3 3 3
WHT 2B s a Lr ) BTN 0 0 0 0
at 16 1 8 8
ek L7 = — = ETA 3 0 0 0
BT T — 2 BTN 7 3 3 1
- Hi T2 = — = BTN 1 1 1 1
HEBRET VA o TR a—2R TN 2 1 1 0
{2 - W Ta—= ETA 3 1 1 0
at 16 6 6 2
REF (B RR 8 10 7 5 2
K FE | RPESR ETA 1 1 1 1
& 3 59 30 24 17




